Algebra 2
Chapter 11 Review - Pt. 1
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State whether the following sequences are arithmetic, geometric, or neither. Then state the common

difference or ratio (if it exists)
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For the following arithmetic sequences, do the following: Write the general rule, find the 15" term,

then sum the first 15 terms.
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For the following geometric sequences, do the following: write the general rule, state the 11" term,

and sum the first 9 terms.
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Evaluate the problems given in Summation Notation.
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Algebra 2
Chapter 11 Test Review — Part 2
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State whether the following geometric sequences will converge or diverge. Then state what |r]

equals. You do not have to find the sum of the converging sequences in this section.
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Find the sum of the following infinite geometric sequences.
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Write a recursive rule for the following sequences.
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In your own words, what is an arithmetic sequence?

» t A . €
Co Sefetnce Ofwre lonseatve ferns am Suga by Rl P oreniii

Herm NP Qc\&_ps the $2M2  Nuember | el a9 b
y fe e
B e [
In your own words, what is a geometric sequence? i R By
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What is the notation for the 15" term in a sequence? What about the 250" term?
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Find the sum of the first 16 terms of the following sequences:
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